AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B3KQ-A/B FOR CYLINDRICAL SHAFT 1” TYPE Q MOTORS

CAT AA4B
8915 6102 9065 9066 9067 F136
| 8914
A o 6029
J,/ pa N W

| 6237

F886
6230
. - 1126

T rowy < a.' /

\\
(4]
NN
,f§§§§§’ 7
|
A
/

P‘-“\ \\ By ‘; : 691"’
//,.-—-f"'-‘\ ) —2
9848 <Y N| | £ 7
\\ ) / ZiaN
F446 N 2R & A I~
. R =] 5930
FS6L NN = B¢
~ | -BIEP %
F135 F563 6341 6355 F319

‘ Part Number Description rlce Part Number  Qty Description price
5442 1 S/Steel OEB Screw M6x15 9065 1 Counterweight $47
5930 1 Adaptor Plates AP 013 $157 9066 1 Counterweight $65
6029 1 Flex. Gasket B 2618 $8 9848 6 OEB S/Steel Screw M10x20 $6
6102 1 Check Valve B3KQ-A $34 F135 1 Conical Tap ¥4" Gas $22
6230 4 Hex. Head Screw M8x20 $5 F136 1 Conical Tape ¥2" Gas $35
6237 4 Hex. Head Screw M10x20 $5 F319 4 OEB Screw 3/8 =16 UNC " $5
6341 1 Mech. Seal 32-54-15 $54 F446 1 Screw OEB 3/8 —24 UNF " $5
6355 1 Counterface 33-57-10 $38 F563 1 Bronze Impeler $408
6914 1 Bronze Sleeve $83 F564 1 Brass Washer $28
7726 4 Copper Washer $2 F739 1 Steel Nut M6x1 $7
8914 1 Bronze Pump Casing $1,997 F886 1 Bronze Support $676
8915 1 Bronze Check Valve $414

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices include GST GMP/JUN 10/1




